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2.1 GeV 800 G Dipole: Beampipe-averaged Cloud Density (1012 m'3)
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2.1 GeV 800 G Dipole: Cloud charge shapshots
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2.1 GeV 800 G Dipole: Cloud char
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2.1 GeV 800 G Dlpole Fitsto cloud charge X distribution
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2.1 GeV 800 G Dipole: Fitsto cloud charge X distribution
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2.1 GeV 800 G Dipole: Fitsto cloud charge X distribution
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2.1 GeV 800 G Dipole: Fitsto cloud charge Y distribution
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2.1 GeV 800 G Dipole: Fitsto cloud charge Y distribution
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2.1 GeV 800 G Dipole: Fitsto cloud charge Y distribution
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2.1 GeV 800 G Dipole: Fitsto cloud charge Y distribution
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Central 20-sigma density prior to filled bunches (1012 m'3)
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Electron Density (1012 m'3)
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Beam-averaged density at peak bunch current (1012 m'3)
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2.1 GeV 800 G Dipole: Field Gradlent dE, /dX (V/m )
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2.1 GeV 800 G Dipole: Field Gradient dE, /dX (V/m2
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2.1 GeV 800 G Dipole: Field Gradient dE, /dX (V/mz)
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2.1 GeV 800 G Dipole: Field Gradient dE, /dX (V/mz)
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2.1 GeV 800 G Dipole: Field Gradlent dE, /dY (V/m )
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2.1 GeV 800 G Dipole: Field Gradient dE,, /dY (V/m2
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2.1 GeV 800 G Dipole: Field Gradient dE,, /dY (V/mz)
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2.1 GeV 800 G Dipole: Field Gradient dE,, /dY (V/mz)
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2.1 GeV 800 G Dipole: 50 Central Density (1011 m )

:\ T T T ‘ T 1 T ‘ T T T T ‘ T T 1 ‘ \:
1= -
0 ; ®© o o o o o o epf P :
1B =

Eoov b b b 0 g

0 0.05 0.1 0.15 0.2

T T T T ‘ T T T T ‘ T T T T ‘ T T T T "r
0.4 LI
i o ° |
0.35 |- ® Bunch3 _|
°
BN | L]
03 I L1 | | I | I |

28 28.05 28.1 28.15 28.2

1T 1T T T ‘ T T T ‘ T T T ‘ T T T “*

| o © |

L Y ]

0.6 — —

B ® Bunch5 |

I . —

Y 4 |

05 [ \.\ ‘.\ \.\ | ‘ I ‘ I ‘ |

56 56.05 56.1 56.15 56.2

T T T T
1 } \ \ \ . ® \F:
I ® i
09 - e Bunch7 —
- . ]
0.8 —
® o le o * | |

84 84.05 84.1 84.15 84.2

T T T T
12 [ \ \ \ . ° | ® |

i o il

- e Bunch9
1 o n

et | |
| | | |
112 112.05 112.1 112.15 112.2

T | T o Te ]
[ ]
0.35 | —
8unch 2
i ° i
o3lLe ®® % | | |
14 14.05 14.1 14.15 14.2
0-58 [T T T T ‘ T T T T ‘ T T T T ‘ T T T T ‘ T ]
- o Y _
05267 | 1
- Bunch4
0.4733 | ° .
E [ ] [ ) ‘. [ ] ‘ ‘ ‘ E
042 | | | | | | | | | | | | | | | | |
42 42,05 421 42.15 422
[~ T ‘ T ‘ T ‘ T ‘ ®
i . o
08 |- o |
- ® Bunch6
07 | o i ]
L ®© . la @ | l | l .
70 70.05 70.1 70.15 70.2
e L B
- o ° °
1 ° -
B ® Bunch8 ]
09 |- ° —
5 . .
e | s
08 | | | |
08 98.05 98.1 98.15 08.2
14 |- T g e le
i * ]
i o i
1oL . Bunch 10 B
i . ]
L R R T
126 126.05 1261 12615 1262



i \ ‘ \ ‘ | o e |®]
| . |
14 |— —
i ® Bunchi1l |

[ ]

i . |
12" 0 0 ¢ | | 7
140 140.05 1401 14015 1402

B ‘ \ ‘ \ ‘ [ O ¥ 9]
1.8 — ° —
- Bunch 13
16 — ° —
i o ]
| ®© o |® .\ | ! | ! |
168 168.05 168.1 168.15 168.2
N T ‘ T ‘ T ‘ 'y '_F'_—
2 i ® ;
- ° Bunch 15 -
175 —
- [ J B
| . . . |
15 L | ‘ | ‘ | ‘ | ‘ 1
196 196.05 196.1 196.15 196.2
B T ‘ T ‘ T ‘ .\ ° [e ]
25 — —
| [ ] |
B e Bunchl17
i . |
2 e ala © ® |
224 224.05 224.1 224.15 224.2
ST T T T T & %%
I . —
25 [ ® Bunch19 |
| . —
i o ]

e o ¢ | I
252 252.05 252.1 252.15 252.2

2.1 GeV 800 G Dipole: 50 Central Density (10 m®)

T ‘ \ | ¥ e Je |
16 |- . ]
- ® Bunch12 -
14 — Py —
e et
154 1541 15415 1542
T T ‘ T ‘ T ‘.
2 - o ® |
B ° ]
18 — —
B e Bunch 14 i
16 [ o | -
L ®©, © ¢ ® | ! | l |
182 182.1 182.15 182.2
B T T ‘ T ‘ 9 Ij"f
2.25 [ o -
2 ; Bunch 16 é
" ° [ ] B
| . . 1
175 |- ¢ A R B
210 210.1 210.15 210.2
i T T ‘ T ‘ e o O ]
B o |
25 —
i e Bunch18 |
| ) |
7_._1_._‘.._. .‘ ‘ ‘ ]

2 | |
238 238.1 238.15 238.2
7\ T T T ‘ T T T T ‘ T T T T ‘ T ‘ \‘ ‘it
3 ; [ J ;
B ® Bunch20
i ° ]
25 |- o —
B [ ] [l ‘.\ \.\ | ‘ | | | | ‘ | | | | ‘ \7
266 266.1 266.15 266.2



2.1 GeV 800 G Dipole: 50 Central Density (10" m®)
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2.1 GeV 800 G Dipole: 50 Central Density (10 m®)
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2.1 GeV 800 G Dipole: Beam-weighted Density (10 m™)
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2.1 GeV 800 G Dipole: Beam-weighted Density (10 m™)
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2.1 GeV 800 G Dipole: Beam-weighted Density (10 m™)
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2.1 GeV 800 G Dipole: Beam- welghted Density (10" m™)
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